Name: 2 X Tables

Working Mathematically

I
5x 2 = 2 x 7 = :
|
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3 x 2 = 10 x 2 = : There are 2 apples in each box.
: How many apples in 6 boxes?
5 x 2 = 7 x 2 = |
= —
|
0Ox 2=__ 2x6=__ 12
|
7 x 2 = 2 x 6 = |
— o
|
1 x 2=__2x 7 =__ | Thechildrenare in 4 groups of
: 2. How many children
2x 3 =__ 2x 3 =__ 1 altogether?
|
|
2 x 9 =_ g x 2 = :
|
2 x 4 = 7 x 2 = ! ‘
— —— | There are 10 pairs of shoes.
2« 2 = 2y 2 = | How many shoes altogether?
— —
—
8 x 2 = 9 x 2 = ;
— —, 4) Jimmy bought 2 toy planes
2x 1= 0x 2 = | each day for 5 days. How many
: toy planes did he buy?
2 x 8 = 1 x 2 = :
:5) @ @ Each tile has 2 dots.
2 x 6 =_ 2 ¥ 5 =_ |
! How many dots on 7 tiles?
5x 2 = 2 x 5 = :
|
2 x 6 = 2 x 1 = !
]
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